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A basketball player increased their vertical jump by 5.752 inches during

training and then another 3.505 inches after more practice. What was the

total increase in their vertical jump?
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The Collins traveled 350.267 miles on Saturday and 180.589 miles on Sunday.

How many miles did they travel in total over the weekend?

A truck is loaded with 64.897 tons of iron and 54.201 tons of copper. What is

the combined weight of these materials loaded onto the truck?
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10 inchesa) 8.527 inchesc)9.257 inchesb)

520.586 milesa) 502.658 milesb) 530.856 milesc)

191.098 tons 129.098 tonsc)119.098 tonsa) b)a)
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